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- Let me know about HW problems.

*\Warm Up )
Solye 30 (2ll) = @000

It turns out you don't need your book until

tomorrow. \@
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Today

Finding the Sum of Geometric Sequences
(and of course the n™ term form those
same sequences)

\e
@%/QJ 10, 50, 250, ..... O

A sequenca is geometric il
each term can % ebtained -F.:ou
the previous term by multiplying
by the same umber.

This number & constunt ratio |
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What is the common ratio of

25, 90, 60,40,

If the terms are getting smaller, then the
common ratio must be less than 1
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Note
You are expected to show work,

using good notation in this unit.

Just fiddling around with

a calculator won't work out well
for you.

Is the following sequence geometric? @

R
05,1,2,4,8,16,......
OBBONES,

LJ [} — (/
If so, what is common ratio? ( = ol

How many applications of 2 do you need to get
from the first term to the 3rd term?

n -\

to the 4th term?
U n = O% (Q>
to the 85th term?

to the nth term?
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i’ Geometric o
Your best Lreiend
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Explicit formula for @l
Geometric Sequences
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Explicit formula for @l
Geometric Sequences
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is 4 and the last term is 26,244. If there
are 9 terms in the sequence, what is the
common ratio?

@ The first term of a geometric sequence

Pest Frle/ gy =26

§ — 24
gy =10

Uy, = UOV\ - ?(o““

y
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4 -1 % 10

G120, 108

The first term of a geometric sequence is
4 and the last term is 26,244. If there are
9 terms in the sequence, what is the
common ratio?

Alternative wording for the same )

&:?m) Y ?'{: U= 4 and U =224
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Note .
If something grows at 15%, then the
common ratio would be (1+.15) or 1.15

n-l

un = U|r
L
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the sum of a geometric sequence

Loclely, Hhere's e Lormutalt

To find . sonm of Hae First n
terms of o gzomz:l'n'c. SeGUEMLL.
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Lucleily, Hhares o formolet

To find . sonm of Hae First n
+erms of o wmi—n‘c SEGUENLR.:
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Formula Packet

th
The n™ term of an
arithmetic sequence

The sum of »n terms of
an arithmetic sequence

geometric sequence

The sum of » terms of a
geometric sequence

u, =u, +(n-1)d

S, =L;(211] +(n-1)d) =’—;(ul +u,)

(" =1 wy(1-1")
r—1 1-r

r#l
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_ w, (r" =1) <. = wy(1—1")
tor-l 1—r

- wy (1—1") S =ul(r”—l)
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Assignment #2

Worksheet
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Typics) Geometie [l (or %)
Series erm

multiply by ¥

)

2 W=
Srareal b . +gX

; 7
TYP(CQ.\ Geometric lost (M N‘t\r>
Series erm

multiply by ¥
(

3 e n
¢5, = 9.r +qr+q’4.....9,F +qr
subtracy pfeeteé'ms equation
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